05 - ZADACI ZA NJIH - EXP I LOG FJA

Tekst svih zadataka (osim 1. i 4.) je isti: "Rijesi jednadzbu”.
1. Nacrtaj: a) f(z) = 3% b) f(z) = logs .

2. a) 5" =12, x® = 12.

b)5* =0, 4% =2

)2 =7, 3 =-1.

d)* e* =3, ¢ = 3.

3. a) logy x = 3, log; x = 2.

b) log, z = —1, log, z = 1.

c) Inx =5, Inz="1.

1 log, 3
4. Koliko je: a) (6_4> : b) 490510957

3x 1 x+3 1 5—2x

5. a) _ 32x A 9; b) - — 3—x+2; C) 4330—1 N : d) 92x+1 — 32:0-&—3‘
3 3 8

6.2)9° +8-37 —9=0; b 4" —12.29432=0; )47 —6-2°+8 =0,

7. a) logg(logy(z — 1)) =2;  (Rj: x=2"+1) b) log, 2% = 4.

8. a)log’x +logr —6=0; (Rj: logz = —3,2) b) log?z — 2logz — 8 = 0;

¢) (logzx —2)(logx — 3) = 2; d) (logz + 3)(logz — 4) = 8.

9. Inz —In(z + 1) = In(z + 2).

10. a) 3%(z + 1) = 0; b) e*t(z?* — 3) = 0.

2 — 277 ]
11.% a) TRy b) log,(z +4) +logy(z +2) = 6; c) logy(z+3) +1logy(z+2)—1 = 0.
12. a) 10°*t = 0.1; b) 100 - 10* = 0.01; c) 47t = g d) 2221 = /8; e)
1 11—z 4
- 37 =9
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13. Koliko je: a) 1253085 V3. b) 10011082 c) logy 377

14. a) logs(x — 3) = —2; b)log(z — 1) = —10.



15. a) log, |z — 2| = 3; b) logs(log, z) = 2.



